

RADICALS OF SYMMETRIC CELLULAR ALGEBRAS

BY

YANBO LI (Qinhuangdao)

Abstract. For a symmetric cellular algebra, we study properties of the dual basis of a cellular basis first. Then a nilpotent ideal is constructed. The ideal connects the radicals of cell modules with the radical of the algebra. It also yields some information on the dimensions of simple modules. As a by-product, we obtain some equivalent conditions for a finite-dimensional symmetric cellular algebra to be semisimple.

1. Introduction. Cellular algebras were introduced by Graham and Lehrer [6] in 1996, motivated by previous work of Kazhdan and Lusztig [7]. They were defined by a so-called cellular basis with some nice properties. The theory of cellular algebras provides a systematic framework for studying the representation theory of many important algebras. One can parameterize simple modules for a finite-dimensional cellular algebra by methods of linear algebra. Many classes of algebras from mathematics and physics are found to be cellular, including Hecke algebras of finite type, Ariki–Koike algebras, q -Schur algebras, Brauer algebras, Temperley–Lieb algebras, cyclotomic Temperley–Lieb algebras, Jones algebras, partition algebras, Birman–Wenzl algebras and so on. We refer the reader to [4, 6, 15, 16, 17] for details.

An equivalent basis-free definition of cellular algebras was given by Koenig and Xi [8]. It is useful in dealing with structural problems. Using this definition, Koenig and Xi [9] made explicit an inductive construction of cellular algebras which is called inflation. It can produce all cellular algebras. In [10], Brauer algebras were shown to be iterated inflations of group algebras of symmetric groups. Then more information about Brauer algebras was found.

Recently, Koenig and Xi [11] introduced affine cellular algebras which contain cellular algebras as special cases. Affine Hecke algebras of type A and infinite-dimensional diagram algebras like the affine Temperley–Lieb algebras are affine cellular.

It is an open problem to find explicit formulas for the dimensions of simple modules of a cellular algebra. By the theory of cellular algebras,

2010 *Mathematics Subject Classification*: 16G30, 16N20.

Key words and phrases: radical, symmetric cellular algebra, Gram matrix.

this is equivalent to determining the dimensions of the radicals of bilinear forms associated with cell modules. In [12], for a quasi-hereditary cellular algebra, Lehrer and Zhang found that the radicals of bilinear forms are related to the radical of the algebra. This leads us to studying the radical of a cellular algebra. However, we have no idea for dealing with general cellular algebras now. We will do some work on the radicals of *symmetric* cellular algebras in this paper. Note that Hecke algebras of finite types, Ariki–Koike algebras over any ring containing inverses of the parameters, Khovanov’s diagram algebras are all symmetric cellular algebras. The trivial extension of a cellular algebra is also a symmetric cellular algebra. For details, see [1], [13], [18].

We begin with definitions of and some well-known results on symmetric algebras and cellular algebras in Section 2. Then in Section 3, for a symmetric cellular algebra, we study properties of the dual basis of a cellular basis. In Section 4, a nilpotent ideal of a symmetric cellular algebra is constructed. This ideal connects the radicals of cell modules with the radical of the algebra and also yields some information on the dimensions of simple modules. As a by-product, we obtain some equivalent conditions for a finite-dimensional symmetric cellular algebra to be semisimple.

2. Preliminaries. In this section, we start from the definitions of symmetric algebras and cellular algebras (a slightly weaker version due to Goodman) and then recall some well-known results about them.

Let R be a commutative ring with identity and A an associative R -algebra. As an R -module, A is finitely generated and free. Let $f : A \times A \rightarrow R$ be an R -bilinear map. We say that f is *non-degenerate* if the determinant of the matrix $(f(a_i, a_j))_{a_i, a_j \in B}$ is a unit in R for some R -basis B of A . We say f is *associative* if $f(ab, c) = f(a, bc)$ for all $a, b, c \in A$, and *symmetric* if $f(a, b) = f(b, a)$ for all $a, b \in A$.

DEFINITION 2.1. An R -algebra A is called *symmetric* if there is a non-degenerate associative symmetric bilinear form f on A . Define an R -linear map $\tau : A \rightarrow R$ by $\tau(a) = f(a, 1)$. We call τ a *symmetrizing trace*.

Let A be a symmetric algebra with a basis $B = \{a_i \mid i = 1, \dots, n\}$ and τ a symmetrizing trace. Denote by $D = \{D_i \mid i = 1, \dots, n\}$ the basis determined by the requirement that $\tau(D_j a_i) = \delta_{ij}$ for all $i, j = 1, \dots, n$. We will call D the *dual basis* of B . For arbitrary $1 \leq i, j \leq n$, write $a_i a_j = \sum_k r_{ijk} a_k$, where $r_{ijk} \in R$. Fixing a symmetrizing trace τ for A , we have the following lemma.

LEMMA 2.2. *Let A be a symmetric R -algebra with a basis B and dual basis D . Then*

$$a_i D_j = \sum_k r_{kij} D_k, \quad D_i a_j = \sum_k r_{jki} D_k.$$

Proof. We only prove the first equation. The other one is proved similarly.

Suppose that $a_i D_j = \sum_k r_k D_k$, where $r_k \in R$ for $k = 1, \dots, n$. Left multiplying by a_{k_0} and then applying τ , we get $\tau(a_{k_0} a_i D_j) = r_{k_0}$. Clearly, $\tau(a_{k_0} a_i D_j) = r_{k_0, i, j}$. This implies that $r_{k_0} = r_{k_0, i, j}$. ■

Given a symmetric algebra, it is natural to consider the relation between two dual bases determined by two different symmetrizing traces. For this we have the following lemma.

LEMMA 2.3. *Suppose that A is a symmetric R -algebra with a basis $B = \{a_i \mid i = 1, \dots, n\}$. Let τ, τ' be two symmetrizing traces. Denote by $\{D_i \mid i = 1, \dots, n\}$ the dual basis of B determined by τ and $\{D'_i \mid i = 1, \dots, n\}$ the dual basis determined by τ' . Then for $1 \leq i \leq n$, we have*

$$D'_i = \sum_{j=1}^n \tau(a_j D'_i) D_j.$$

Proof. This is proved by a similar method to Lemma 2.2. ■

Graham and Lehrer [6] introduced the so-called cellular algebras; then Goodman [3] gave a slightly weaker version. Throughout this paper, we will adopt Goodman's definition for the sake of being more general.

DEFINITION 2.4 ([3, Definition 2.9]). Let R be a commutative ring with identity. An associative unital R -algebra is called a *cellular algebra with cell datum* (Λ, M, C, i) if the following conditions are satisfied:

- (C1) The finite set Λ is a poset. Associated with each $\lambda \in \Lambda$, there is a finite set $M(\lambda)$. The algebra A has an R -basis $\{C_{S,T}^\lambda \mid S, T \in M(\lambda), \lambda \in \Lambda\}$.
- (C2) The map i is an R -linear anti-automorphism of A with $i^2 = \text{id}$ and

$$i(C_{S,T}^\lambda) \equiv C_{T,S}^\lambda \pmod{A(<\lambda)}$$

for all $\lambda \in \Lambda$ and $S, T \in M(\lambda)$, where $A(<\lambda)$ is the R -submodule of A generated by $\{C_{S'',T''}^\mu \mid S'', T'' \in M(\mu), \mu < \lambda\}$.

- (C3) If $\lambda \in \Lambda$ and $S, T \in M(\lambda)$, then for any $a \in A$, we have

$$a C_{S,T}^\lambda \equiv \sum_{S' \in M(\lambda)} r_a(S', S) C_{S',T}^\lambda \pmod{A(<\lambda)},$$

where $r_a(S', S) \in R$ is independent of T .

Applying i to the equation in (C3), we obtain

$$(C3') \quad C_{T,S}^\lambda i(a) \equiv \sum_{S' \in M(\lambda)} r_a(S', S) C_{T,S'}^\lambda \pmod{A(<\lambda)}.$$

REMARK 2.5. Graham and Lehrer's [6] original definition requires that $i(C_{S,T}^\lambda) = C_{T,S}^\lambda$ for all $\lambda \in \Lambda$ and $S, T \in M(\lambda)$. But Goodman pointed out that the results of [6] remained valid with his weaker axiom. In case $2 \in R$

is invertible, these two definitions are equivalent. For details, we refer the reader to [4].

It is easy to check the following lemma by Definition 2.4.

LEMMA 2.6 ([6, Lemma 1.7]). *Let $\lambda \in \Lambda$ and $a \in A$. Then for arbitrary elements $S, T, U, V \in M(\lambda)$, we have*

$$C_{S,T}^\lambda a C_{U,V}^\lambda \equiv \Phi_a(T, U) C_{S,V}^\lambda \pmod{A(\langle \lambda \rangle)},$$

where $\Phi_a(T, U) \in R$ depends only on a , T and U .

We often omit the index a when $a = 1$, that is, write $\Phi(T, U)$ for $\Phi_1(T, U)$.

Let us now recall the definition of cell modules.

DEFINITION 2.7 ([6, Definition 2.1]). Let A be a cellular algebra with cell datum (Λ, M, C, i) . For each $\lambda \in \Lambda$, define the left A -module $W(\lambda)$ as follows: $W(\lambda)$ is a free R -module with basis $\{C_S \mid S \in M(\lambda)\}$ and A -action defined by

$$aC_S = \sum_{S' \in M(\lambda)} r_a(S', S)C_{S'} \quad (a \in A, S \in M(\lambda)),$$

where $r_a(S', S)$ is the element of R defined in Definition 2.4 (C3).

LEMMA 2.8 ([6, Lemma 2.2]). *There is a natural isomorphism of A -bimodules*

$$C^\lambda : W(\lambda) \otimes_R i(W(\lambda)) \rightarrow R\text{-span}\{C_{S,T}^\lambda \mid S, T \in M(\lambda)\},$$

defined by $(C_S, C_T) \mapsto C_{S,T}^\lambda$.

For a cell module $W(\lambda)$, define a bilinear form

$$\Phi_\lambda : W(\lambda) \times W(\lambda) \rightarrow R$$

by $\Phi_\lambda(C_S, C_T) = \Phi(S, T)$. It plays an important role in studying the structure of $W(\lambda)$. It is easy to check that $\Phi(T, U) = \Phi(U, T)$ for arbitrary $T, U \in M(\lambda)$.

Define

$$\text{rad } \lambda := \{x \in W(\lambda) \mid \Phi_\lambda(x, y) = 0 \text{ for all } y \in W(\lambda)\}.$$

If $\Phi_\lambda \neq 0$, then $\text{rad } \lambda$ is the radical of the A -module $W(\lambda)$. Moreover, if λ is a maximal element in Λ , then $\text{rad } \lambda = 0$.

The following results were proved by Graham and Lehrer [6].

THEOREM 2.9 ([6, Theorem 3.4]). *Let K be a field and A a finite dimensional cellular algebra. For any $\lambda \in \Lambda$, denote the A -module $W(\lambda)/\text{rad } \lambda$ by L_λ . Let $\Lambda_0 = \{\lambda \in \Lambda \mid \Phi_\lambda \neq 0\}$. Then $\{L_\lambda \mid \lambda \in \Lambda_0\}$ is a complete set of (representatives of equivalence classes of) absolutely simple A -modules.*

THEOREM 2.10 ([6, Theorem 3.8]). *Let K be a field and A a cellular K -algebra. Then the following are equivalent:*

- (1) *The algebra A is semisimple.*
- (2) *The nonzero cell representations $W(\lambda)$ are irreducible and pairwise inequivalent.*
- (3) *The form Φ_λ is nondegenerate (i.e. $\text{rad } \lambda = 0$) for each $\lambda \in \Lambda$.*

For $\lambda \in \Lambda$, fix an order on $M(\lambda)$ and let $M(\lambda) = \{S_1, \dots, S_{n_\lambda}\}$, where n_λ is the number of elements in $M(\lambda)$. The matrix

$$G(\lambda) = (\Phi(S_i, S_j))_{1 \leq i, j \leq n_\lambda}$$

is called the *Gram matrix*. It is easy to know that all the determinants of $G(\lambda)$ defined using different orders on $M(\lambda)$ are the same. By the definition of $G(\lambda)$ and $\text{rad } \lambda$, for a finite-dimensional cellular algebra A , it is clear that if $\Phi_\lambda \neq 0$, then $\dim_K L_\lambda = \text{rank } G(\lambda)$.

3. Symmetric cellular algebras. In this section, we study properties of the dual basis of a cellular basis for a symmetric cellular algebra. We will prove that the dual basis is “almost” cellular.

Let A be a symmetric cellular algebra with cell datum (Λ, M, C, i) . Throughout, denote the dual basis by $D = \{D_{S,T}^\lambda \mid S, T \in M(\lambda), \lambda \in \Lambda\}$, which satisfies

$$\tau(C_{S,T}^\lambda D_{U,V}^\mu) = \delta_{\lambda\mu} \delta_{SV} \delta_{TU}.$$

For any $\lambda, \mu \in \Lambda$, $S, T \in M(\lambda)$, $U, V \in M(\mu)$, write

$$C_{S,T}^\lambda C_{U,V}^\mu = \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(S,T,\lambda), (U,V,\mu), (X,Y,\epsilon)} C_{X,Y}^\epsilon.$$

The lemma below plays an important role throughout this paper.

LEMMA 3.1. *Let A be a symmetric cellular algebra with cell datum (Λ, M, C, i) and τ a given symmetrizing trace. For arbitrary $\lambda, \mu \in \Lambda$ and $S, T, P, Q \in M(\lambda)$, $U, V \in M(\mu)$, the following hold:*

- (1) $D_{U,V}^\mu C_{S,T}^\lambda = \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(S,T,\lambda), (Y,X,\epsilon), (V,U,\mu)} D_{X,Y}^\epsilon.$
- (2) $C_{S,T}^\lambda D_{U,V}^\mu = \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(Y,X,\epsilon), (S,T,\lambda), (V,U,\mu)} D_{X,Y}^\epsilon.$
- (3) $C_{S,T}^\lambda D_{T,Q}^\lambda = C_{S,P}^\lambda D_{P,Q}^\lambda.$
- (4) $D_{T,S}^\lambda C_{S,Q}^\lambda = D_{T,P}^\lambda C_{P,Q}^\lambda.$
- (5) $C_{S,T}^\lambda D_{P,Q}^\lambda = 0$ if $T \neq P$.
- (6) $D_{P,Q}^\lambda C_{S,T}^\lambda = 0$ if $Q \neq S$.
- (7) $C_{S,T}^\lambda D_{U,V}^\mu = 0$ if $\mu \not\leq \lambda$.
- (8) $D_{U,V}^\mu C_{S,T}^\lambda = 0$ if $\mu \not\leq \lambda$.

Proof. (1), (2) are corollaries of Lemma 2.2. The equations (5)–(8) are corollaries of (1) and (2). We now prove (3).

By (2), we have

$$C_{S,T}^\lambda D_{T,Q}^\lambda = \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(Y,X,\epsilon),(S,T,\lambda),(Q,T,\lambda)} D_{X,Y}^\epsilon,$$

$$C_{S,P}^\lambda D_{P,S}^\lambda = \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(Y,X,\epsilon),(S,P,\lambda),(Q,P,\lambda)} D_{X,Y}^\epsilon.$$

On the other hand, by (C3) of Definition 2.4 we also have

$$r_{(Y,X,\epsilon),(S,T,\lambda),(Q,T,\lambda)} = r_{(Y,X,\epsilon),(S,P,\lambda),(Q,P,\lambda)}$$

for all $\epsilon \in \Lambda$ and $X, Y \in M(\epsilon)$. This completes the proof of (3).

(4) is proved similarly. ■

LEMMA 3.2. *Let A be a symmetric cellular algebra with cell datum (Λ, M, C, i) , and $D = \{D_{S,T}^\lambda \mid S, T \in M(\lambda), \lambda \in \Lambda\}$ the dual basis. Then (C3) of Definition 2.4 holds with respect to the opposite order on Λ . Moreover,*

$$i(D_{S,T}^\lambda) \equiv r_{T,S,\lambda} D_{T,S}^\lambda \pmod{A_D(>\lambda)},$$

where $r_{T,S,\lambda} \in R$ and where $A_D(>\lambda)$ is the R -submodule of A generated by $\{D_{U,V}^\mu \mid U, V \in M(\mu), \mu > \lambda\}$.

Proof. Let us prove (C3) holds. For arbitrary $C_{S,T}^\lambda$, by Lemma 3.1(2), we have

$$C_{S,T}^\lambda D_{U,V}^\mu = \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(Y,X,\epsilon),(S,T,\lambda),(V,U,\mu)} D_{X,Y}^\epsilon.$$

By (C3) of Definition 2.4, if $\epsilon < \mu$, then $r_{(Y,X,\epsilon),(S,T,\lambda),(V,U,\mu)} = 0$. Therefore,

$$C_{S,T}^\lambda D_{U,V}^\mu \equiv \sum_{X, Y \in M(\mu)} r_{(Y,X,\mu),(S,T,\lambda),(V,U,\mu)} D_{X,Y}^\mu \pmod{A_D(>\mu)},$$

where $A_D(>\mu)$ is the R -submodule of A generated by

$$\{D_{S'',T''}^\eta \mid S'', T'' \in M(\lambda), \eta > \mu\}.$$

By (C3') of Definition 2.4, if $Y \neq V$, then $r_{(Y,X,\mu),(S,T,\lambda),(V,U,\mu)} = 0$. So

$$C_{S,T}^\lambda D_{U,V}^\mu \equiv \sum_{X \in M(\mu)} r_{(V,X,\mu),(S,T,\lambda),(V,U,\mu)} D_{X,V}^\mu \pmod{A_D(>\mu)}.$$

Clearly, for arbitrary $X \in M(\mu)$, we have

$$r_{(V,X,\mu),(S,T,\lambda),(V,U,\mu)} = r_{C_{T,S}^\lambda}(U, X),$$

which is independent of V . Since $C_{S,T}^\lambda$ is arbitrary,

$$aD_{U,V}^\mu \equiv \sum_{U' \in M(\mu)} r_{i(a)}(U, U') D_{U',V}^\mu \pmod{A_D(>\mu)}$$

for any $a \in A$. By Definition 2.4, $r_{i(a)}(U, U')$ is independent of V . Thus we have completed the proof of (C3).

Let

$$i(D_{S,T}^\lambda) = \sum_{\epsilon \in A, X, Y \in M(\epsilon)} r_{X, Y, \epsilon} D_{X, Y}^\epsilon$$

with $r_{X, Y, \epsilon} \in R$. If there exists $\eta \not\geq \lambda$ such that $r_{P, Q, \eta} \neq 0$ for some $P, Q \in M(\eta)$, then $\tau(i(D_{S,T}^\lambda)C_{Q,P}^\eta) = r_{P, Q, \eta} \neq 0$. This implies that $i(D_{S,T}^\lambda)C_{Q,P}^\eta \neq 0$. Thus $C_{P,Q}^\eta D_{S,T}^\lambda \neq 0$. But we know $\eta \not\geq \lambda$, so by Lemma 3.1(7), $C_{P,Q}^\eta D_{S,T}^\lambda = 0$, a contradiction. This implies that

$$i(D_{S,T}^\lambda) \equiv \sum_{X, Y \in M(\lambda)} r_{X, Y, \lambda} D_{X, Y}^\lambda \pmod{A_D(>\lambda)}.$$

Now assume $r_{U, V, \lambda} \neq 0$. Then $i(D_{S,T}^\lambda)C_{V,U}^\lambda \neq 0$, hence $C_{U,V}^\lambda D_{S,T}^\lambda \neq 0$. By Lemma 3.1(5), $V = S$. We can get $U = T$ similarly. This completes the proof of the lemma. ■

REMARK. Obviously, if $r_{T, S, \lambda} = 1$ for all $\lambda \in A$ and $S, T \in M(\lambda)$, then the dual basis $D_{T,S}^\lambda$ is again cellular with respect to the opposite order on λ .

It is easy to check that for arbitrary elements $S, T, U, V \in M(\lambda)$,

$$D_{S,T}^\lambda D_{U,V}^\lambda \equiv \Psi(T, U) D_{S,V}^\lambda \pmod{A(>\lambda)},$$

where $\Psi(T, U) \in R$ depends only on T and U . Then we also have Gram matrices $G'(\lambda)$ defined by the dual basis. Now it is natural to ask about the relation between $G(\lambda)$ and $G'(\lambda)$. To study this, we need the following lemma.

LEMMA 3.3. *Let A be a symmetric cellular algebra with cell datum (A, M, C, i) . For every $\lambda \in A$ and $S, T, U, V, P \in M(\lambda)$, we have*

$$C_{S,T}^\lambda D_{T,U}^\lambda C_{U,V}^\lambda D_{V,P}^\lambda = \sum_{Y \in M(\lambda)} \Phi(Y, V) \Psi(Y, V) C_{S,T}^\lambda D_{T,P}^\lambda.$$

Proof. By Lemma 3.1(1), we have

$$\begin{aligned} C_{S,T}^\lambda D_{T,U}^\lambda C_{U,V}^\lambda D_{V,P}^\lambda &= C_{S,T}^\lambda (D_{T,U}^\lambda C_{U,V}^\lambda) D_{V,P}^\lambda \\ &= \sum_{\epsilon \in A, X, Y \in M(\epsilon)} r_{(U, V, \lambda), (Y, X, \epsilon), (U, T, \lambda)} C_{S,T}^\lambda D_{X, Y}^\epsilon D_{V, P}^\lambda. \end{aligned}$$

If $\epsilon > \lambda$, then by Lemma 3.1(7), $C_{S,T}^\lambda D_{X, Y}^\epsilon = 0$; if $\epsilon < \lambda$, then by Defini-

tion 2.4 (C3), $r_{(U,V,\lambda),(Y,X,\epsilon),(U,T,\lambda)} = 0$. This implies that

$$\begin{aligned} \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(U,V,\lambda),(Y,X,\epsilon),(U,T,\lambda)} C_{S,T}^\lambda D_{X,Y}^\epsilon D_{V,P}^\lambda \\ = \sum_{X, Y \in M(\lambda)} r_{(U,V,\lambda),(Y,X,\lambda),(U,T,\lambda)} C_{S,T}^\lambda D_{X,Y}^\lambda D_{V,P}^\lambda. \end{aligned}$$

By Definition 2.4 (C3), if $X \neq T$, then $r_{(U,V,\lambda),(Y,X,\lambda),(U,T,\lambda)} = 0$. Hence,

$$\begin{aligned} \sum_{X, Y \in M(\lambda)} r_{(U,V,\lambda),(Y,X,\lambda),(U,T,\lambda)} C_{S,T}^\lambda D_{X,Y}^\lambda D_{V,P}^\lambda \\ = \sum_{Y \in M(\lambda)} r_{(U,V,\lambda),(Y,T,\lambda),(U,T,\lambda)} C_{S,T}^\lambda D_{T,Y}^\lambda D_{V,P}^\lambda. \end{aligned}$$

Note that

$$D_{T,Y}^\lambda D_{V,P}^\lambda \equiv \Psi(Y, V) D_{T,P}^\lambda \pmod{A_D(>\lambda)}.$$

Moreover, by Lemma 3.1(7), if $\epsilon > \lambda$, then $C_{S,T}^\lambda D_{X,Y}^\epsilon = 0$. Thus

$$\begin{aligned} \sum_{Y \in M(\lambda)} r_{(U,V,\lambda),(Y,T,\lambda),(U,T,\lambda)} C_{S,T}^\lambda D_{T,Y}^\lambda D_{V,P}^\lambda \\ = \sum_{Y \in M(\lambda)} \Phi(Y, V) \Psi(Y, V) C_{S,T}^\lambda D_{T,P}^\lambda. \end{aligned}$$

This completes the proof. ■

By Lemma 3.1, $C_{U,V}^\lambda D_{V,P}^\lambda$ is independent of the choice of V , hence so is $\sum_{Y \in M(\lambda)} \Phi(Y, V) \Psi(Y, V)$. Then for any $\lambda \in \Lambda$, we can define a constant $k_{\lambda, \tau}$ as follows.

DEFINITION 3.4. Keep the notation above. For $\lambda \in \Lambda$, take an arbitrary $V \in M(\lambda)$. Define

$$k_{\lambda, \tau} = \sum_{X \in M(\lambda)} \Phi(X, V) \Psi(X, V).$$

It is helpful to note that $\{k_{\lambda, \tau} \mid \lambda \in \Lambda\}$ is not independent of the choice of symmetrizing trace. Fixing a symmetrizing trace τ , we often write $k_{\lambda, \tau}$ as k_λ . The following lemma gives the relation among $G(\lambda)$, $G'(\lambda)$ and k_λ .

LEMMA 3.5. *Let A be a symmetric cellular algebra with cell datum (Λ, M, C, i) . For any $\lambda \in \Lambda$, fix an order on the set $M(\lambda)$. Then $G(\lambda)G'(\lambda) = k_\lambda E$, where E is the identity matrix.*

Proof. For an arbitrary $\lambda \in \Lambda$, according to the definition of $G(\lambda)$, $G'(\lambda)$ and k_λ , we only need to show that $\sum_{Y \in M(\lambda)} \Phi(Y, U) \Psi(Y, V) = 0$ for arbitrary $U, V \in M(\lambda)$ with $U \neq V$.

In fact, on one hand, for arbitrary $S \in M(\lambda)$, by Lemma 3.1(5), $U \neq V$ implies that $C_{S,U}^\lambda D_{V,S}^\lambda = 0$. Then $C_{S,U}^\lambda D_{U,S}^\lambda C_{S,U}^\lambda D_{V,S}^\lambda = 0$. On the other hand, by a similar method to the proof of Lemma 3.3,

$$\begin{aligned} C_{S,U}^\lambda D_{U,S}^\lambda C_{S,U}^\lambda D_{V,S}^\lambda &= \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(S,U,\lambda), (Y,X,\epsilon), (S,U,\lambda)} C_{S,U}^\lambda D_{X,Y}^\epsilon D_{V,S}^\lambda \\ &= \sum_{Y \in M(\lambda)} r_{(S,U,\lambda), (Y,U,\lambda), (S,U,\lambda)} C_{S,U}^\lambda D_{U,Y}^\lambda D_{V,S}^\lambda \\ &= \sum_{Y \in M(\lambda)} \Phi(Y, U) \Psi(Y, V) C_{S,U}^\lambda D_{U,S}^\lambda. \end{aligned}$$

Then $\sum_{Y \in M(\lambda)} \Phi(Y, U) \Psi(Y, V) C_{S,U}^\lambda D_{U,S}^\lambda = 0$. This implies that

$$\tau \left(\sum_{Y \in M(\lambda)} \Phi(Y, U) \Psi(Y, V) C_{S,U}^\lambda D_{U,S}^\lambda \right) = 0.$$

Since $\tau(C_{S,U}^\lambda D_{U,S}^\lambda) = 1$, we have $\sum_{Y \in M(\lambda)} \Phi(Y, U) \Psi(Y, V) = 0$. ■

COROLLARY 3.6. *Let A be a symmetric cellular algebra over an integral domain R . Then $k_\lambda = 0$ for any $\lambda \in \Lambda$ with $\text{rad } \lambda \neq 0$.*

Proof. Since $|G(\lambda)| = 0$ is equivalent to $\text{rad } \lambda \neq 0$, Lemma 3.5 shows that $\text{rad } \lambda \neq 0$ implies $k_\lambda = 0$. ■

4. Radicals of symmetric cellular algebras. To study radicals of symmetric cellular algebras, we need the following lemma.

LEMMA 4.1. *Let A be a symmetric cellular algebra. Then for any $\lambda \in \Lambda$, the elements of the form $\sum_{S,U \in M(\lambda)} r_{SU} C_{S,U}^\lambda D_{V,U}^\lambda$ with $r_{SU} \in R$ form an ideal of A .*

Proof. Denote the set of elements of the above form by I^λ . Then we claim that $C_{P,Q}^\eta C_{S,V}^\lambda D_{V,U}^\lambda \in I^\lambda$ for any $\eta \in \Lambda$, $P, Q \in M(\eta)$, and $S, U \in M(\lambda)$. In fact, by (C3) of Definition 2.4 and Lemma 3.1(7),

$$\begin{aligned} C_{P,Q}^\eta C_{S,V}^\lambda D_{V,U}^\lambda &= \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} r_{(P,Q,\eta), (S,V,\lambda), (X,Y,\epsilon)} C_{X,Y}^\epsilon D_{V,U}^\lambda \\ &= \sum_{X \in M(\lambda)} r_{(P,Q,\eta), (S,V,\lambda), (X,V,\lambda)} C_{X,V}^\lambda D_{V,U}^\lambda. \end{aligned}$$

That $C_{S,V}^\lambda D_{V,U}^\lambda C_{P,Q}^\eta \in I^\lambda$ is proved similarly. ■

We will denote $\sum_{\lambda \in \Lambda, k_\lambda=0} I^\lambda$ by I^A . Similarly, for each $\lambda \in \Lambda$, the elements of the form $\sum_{S,U \in M(\lambda)} r_{U,S} D_{U,V}^\lambda C_{V,S}^\lambda$ with $r_{U,S} \in R$ also form an ideal I_D^λ of A . Denote $\sum_{\lambda \in \Lambda, k_\lambda=0} I_D^\lambda$ by I_D^A and set $I = I^A + I_D^A$.

Define

$$\begin{aligned} \Lambda_1 &= \{\lambda \in \Lambda \mid \text{rad } \lambda = 0\}, & \Lambda_2 &= \Lambda_0 - \Lambda_1, \\ \Lambda_3 &= \Lambda - \Lambda_0, & \Lambda_4 &= \{\lambda \in \Lambda_1 \mid k_\lambda = 0\}. \end{aligned}$$

Now we are in a position to give the main result of this paper.

THEOREM 4.2. *Suppose that R is an integral domain and that A is a symmetric cellular algebra with a cellular basis $C = \{C_{S,T}^\lambda \mid S, T \in M(\lambda), \lambda \in \Lambda\}$. Let τ be a symmetrizing trace on A and let $\{D_{T,S}^\lambda \mid S, T \in M(\lambda), \lambda \in \Lambda\}$ be the dual basis of C with respect to τ . Then*

- (1) $I \subseteq \text{rad } A$ and $I^3 = 0$.
- (2) I is independent of the choice of τ .

Moreover, if R is a field, then

- (3) $\dim_R I \geq \sum_{\lambda \in \Lambda_2} (n_\lambda + \dim_R \text{rad } \lambda) \dim_R L_\lambda + \sum_{\lambda \in \Lambda_4} n_\lambda^2$,
where n_λ is the number of elements in $M(\lambda)$.
- (4) $\sum_{\lambda \in \Lambda_2} (\dim_K L_\lambda)^2 - \sum_{\lambda \in \Lambda_3} n_\lambda^2 \leq \sum_{\lambda \in \Lambda_2} (\dim_K \text{rad } \lambda)^2 - \sum_{\lambda \in \Lambda_4} n_\lambda^2$.

Proof. (1) $I \subseteq \text{rad } A$ and $I^3 = 0$.

Firstly, we prove $(I^A)^2 = 0$. Obviously, by the definition of I^A , every element of $(I^A)^2$ can be written as a linear combination of elements of the form $C_{S_1,T}^\lambda D_{T,S_2}^\lambda C_{U_1,V}^\mu D_{V,U_2}^\mu$ (we omit the coefficient here) with $k_\lambda = 0$ and $k_\mu = 0$.

If $\mu < \lambda$, then $C_{S_1,T}^\lambda D_{T,S_2}^\lambda C_{U_1,V}^\mu D_{V,U_2}^\mu = 0$ by Lemma 3.1(8).

If $\mu > \lambda$, then by Lemma 3.1(1)&(7),

$$C_{S_1,T}^\lambda D_{T,S_2}^\lambda C_{U_1,V}^\mu D_{V,U_2}^\mu = \sum_{Y \in M(\lambda)} r_{(U_1,V,\mu),(Y,T,\lambda),(S_2,T,\lambda)} C_{S_1,T}^\lambda D_{T,Y}^\lambda D_{Y,U_2}^\mu.$$

However, by Lemma 3.2, every $D_{P,Q}^\eta$ with nonzero coefficient in the expansion of $D_{T,Y}^\lambda D_{V,U_2}^\mu$ satisfies $\eta \geq \mu$. Since $\mu > \lambda$, we have $\eta > \lambda$. Now, by Lemma 3.1(7), we get $C_{S_1,T}^\lambda D_{P,Q}^\eta = 0$, that is, $C_{S_1,T}^\lambda D_{T,S_2}^\lambda C_{U_1,V}^\mu D_{V,U_2}^\mu = 0$ if $\mu > \lambda$.

If $\lambda = \mu$, by Lemma 3.1(3)&(4), we only need to consider elements of the form

$$C_{S_1,T_1}^\lambda D_{T_1,S_2}^\lambda C_{S_2,T_2}^\lambda D_{T_2,S_3}^\lambda.$$

By Lemmas 3.3 and 3.6,

$$C_{S_1,T_1}^\lambda D_{T_1,S_2}^\lambda C_{S_2,T_2}^\lambda D_{T_2,S_3}^\lambda = k_\lambda C_{S_1,T_1}^\lambda D_{T_1,S_3}^\lambda = 0.$$

Then we see that all the elements of the form $C_{S_1,T}^\lambda D_{T,S_2}^\lambda C_{U_1,V}^\mu D_{V,U_2}^\mu$ are zero, that is, $(I^A)^2 = 0$.

Similarly, we get $(I_D^A)^2 = 0$.

To prove $I^3 = 0$, we now only need to consider elements in $I^\lambda I_D^\lambda I^\lambda$ and $I_D^\lambda I^\lambda I_D^\lambda$. For $\lambda, \mu, \eta \in \Lambda$ with $k_\lambda = k_\mu = k_\eta = 0$ and $S, T, M \in M(\lambda)$, $U, V, N \in M(\mu)$, $P, Q, W \in M(\eta)$, suppose that

$$C_{S,T}^\lambda D_{T,M}^\lambda D_{U,V}^\mu C_{V,N}^\mu C_{P,Q}^\eta D_{Q,W}^\eta \neq 0.$$

If $\lambda > \mu$, then any $D_{X,Y}^\epsilon$ with nonzero coefficient in the expansion of $D_{T,M}^\lambda D_{U,V}^\mu$ satisfies $\epsilon \geq \lambda$, so $\epsilon > \mu$; this implies that $D_{X,Y}^\epsilon C_{V,N}^\mu = 0$ by Lemma 3.1, a contradiction. If $\lambda < \mu$, then any $D_{X,Y}^\epsilon$ with nonzero coefficient in the expansion of $D_{T,M}^\lambda D_{U,V}^\mu$ satisfies $\epsilon \geq \mu$, so $\epsilon > \lambda$; this implies that $C_{S,T}^\lambda D_{X,Y}^\epsilon = 0$ by Lemma 3.1, a contradiction. Thus $\lambda = \mu$. Similarly, we get $\eta = \mu$. By direct computation, we can also get $C_{S,T}^\lambda D_{T,M}^\lambda D_{U,V}^\mu C_{V,N}^\mu C_{P,Q}^\eta D_{Q,W}^\eta = 0$. This implies that $I^\lambda I_D^\lambda I^\lambda = 0$. Similarly $I_D^\lambda I^\lambda I_D^\lambda = 0$ is proved. Then $I^3 = 0$ follows.

Now it is clear that $I \subseteq \text{rad } A$ for I is a nilpotent ideal of A .

(2) I is independent of the choice of τ .

Let τ and τ' be two symmetrizing traces and D, d the dual bases determined by τ and τ' respectively. By Lemma 2.3, for arbitrary $d_{U,V}^\lambda \in d$,

$$d_{U,V}^\lambda = \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} \tau(C_{X,Y}^\epsilon d_{U,V}^\lambda) D_{Y,X}^\epsilon.$$

Then for arbitrary $S \in M(\lambda)$,

$$C_{S,U}^\lambda d_{U,V}^\lambda = \sum_{\epsilon \in \Lambda, X, Y \in M(\epsilon)} \tau(C_{X,Y}^\epsilon d_{U,V}^\lambda) C_{S,U}^\lambda D_{Y,X}^\epsilon.$$

By Lemma 3.1(7)&(8), if $\epsilon < \lambda$, then $C_{X,Y}^\epsilon d_{U,V}^\lambda = 0$; if $\epsilon > \lambda$, then $C_{S,U}^\lambda D_{Y,X}^\epsilon = 0$. This implies that

$$C_{S,U}^\lambda d_{U,V}^\lambda = \sum_{X, Y \in M(\lambda)} \tau(C_{X,Y}^\lambda d_{U,V}^\lambda) C_{S,U}^\lambda D_{Y,X}^\lambda.$$

By Lemma 3.1(5), if $Y \neq U$, then $C_{S,U}^\lambda D_{Y,X}^\lambda = 0$. Hence

$$C_{S,U}^\lambda d_{U,V}^\lambda = \sum_{X \in M(\lambda)} \tau(C_{X,U}^\lambda d_{U,V}^\lambda) C_{S,U}^\lambda D_{U,X}^\lambda.$$

Note that $\tau(C_{X,U}^\lambda d_{U,V}^\lambda) = \tau(d_{U,V}^\lambda C_{X,U}^\lambda)$. Then it follows from Lemma 3.1 that $d_{U,V}^\lambda C_{X,U}^\lambda = 0$ if $X \neq V$. Thus

$$C_{S,U}^\lambda d_{U,V}^\lambda = \tau(C_{V,U}^\lambda d_{U,V}^\lambda) C_{S,U}^\lambda D_{U,V}^\lambda.$$

Similarly, we obtain

$$\begin{aligned} C_{S,U}^\lambda D_{U,V}^\lambda &= \tau'(C_{V,U}^\lambda D_{U,V}^\lambda) C_{S,U}^\lambda d_{U,V}^\lambda, \\ d_{V,U}^\lambda C_{U,S}^\lambda &= \tau(C_{V,U}^\lambda d_{U,V}^\lambda) D_{V,U}^\lambda C_{U,S}^\lambda, \\ D_{V,U}^\lambda C_{U,S}^\lambda &= \tau'(C_{V,U}^\lambda D_{U,V}^\lambda) d_{V,U}^\lambda C_{U,S}^\lambda. \end{aligned}$$

The above four formulas imply that I is independent of the choice of symmetrizing trace.

$$(3) \dim_R I \geq \sum_{\lambda \in \Lambda_2} (n_\lambda + \dim_R \text{rad } \lambda) \dim_R L_\lambda + \sum_{\lambda \in \Lambda_4} n_\lambda^2.$$

For any $\lambda \in \Lambda_2$ and $S, T \in M(\lambda)$, it follows from Lemma 3.1 that

$$\begin{aligned} C_{S,T}^\lambda D_{T,T}^\lambda &\equiv \sum_{X \in M(\lambda)} \Phi(X, S) D_{X,T}^\lambda \pmod{A_D(>\lambda)}, \\ D_{T,T}^\lambda C_{T,S}^\lambda &\equiv \sum_{Y \in M(\lambda)} \Phi(Y, S) D_{T,Y}^\lambda \pmod{A_D(>\lambda)}. \end{aligned}$$

Let V be the R -space generated by the union of the sets

$$\begin{aligned} &\left\{ \sum_{X \in M(\lambda)} \Phi(X, S) D_{X,T}^\lambda \mid S, T \in M(\lambda) \right\}, \\ &\left\{ \sum_{Y \in M(\lambda)} \Phi(Y, S) D_{T,Y}^\lambda \mid S, T \in M(\lambda) \right\}. \end{aligned}$$

Then it is easy to deduce from the definition of I^λ and I_D^λ that

$$\dim_R(I^\lambda + I_D^\lambda) \geq \dim V.$$

On the other hand, since $\Phi_\lambda \neq 0$ and $\text{rank } G_\lambda = \dim_R L_\lambda$, we have

$$\dim V = 2n_\lambda \dim_R L_\lambda - (\dim_R L_\lambda)^2,$$

that is, $\dim V = \dim_R L_\lambda \times (n_\lambda + \dim_R \text{rad } \lambda)$. Thus

$$\dim_R(I^\lambda + I_D^\lambda) \geq \dim_R L_\lambda \times (n_\lambda + \dim_R \text{rad } \lambda).$$

Clearly, the above inequality holds true for any $\lambda \in \Lambda_4$, so

$$\dim_R(I^\lambda + I_D^\lambda) \geq n_\lambda^2$$

for any $\lambda \in \Lambda_4$. It is clear by Lemma 3.2 that

$$\dim_R I \geq \sum_{\lambda \in \Lambda_2} \dim_R(I^\lambda + I_D^\lambda) + \sum_{\lambda \in \Lambda_4} n_\lambda^2,$$

and thus item (3) follows.

$$(4) \sum_{\lambda \in \Lambda_2} (\dim_K L_\lambda)^2 - \sum_{\lambda \in \Lambda_3} n_\lambda^2 \leq \sum_{\lambda \in \Lambda_2} (\dim_K \text{rad } \lambda)^2.$$

By (1) and (3),

$$\dim_R \text{rad } A \geq \sum_{\lambda \in \Lambda_2} (n_\lambda + \dim_R \text{rad } \lambda) \dim_R L_\lambda + \sum_{\lambda \in \Lambda_4} n_\lambda^2.$$

By the formula

$$\dim_R \text{rad } A = \dim_R A - \sum_{\lambda \in \Lambda_0} (\dim_R L_\lambda)^2,$$

we have

$$\dim_R A - \sum_{\lambda \in \Lambda_0} (\dim_R L_\lambda)^2 \geq \sum_{\lambda \in \Lambda_2} (n_\lambda + \dim_R \text{rad } \lambda) \dim_R L_\lambda + \sum_{\lambda \in \Lambda_4} n_\lambda^2.$$

That is,

$$\begin{aligned} \sum_{\lambda \in \Lambda_3} n_\lambda^2 + \sum_{\lambda \in \Lambda_0} n_\lambda^2 - \sum_{\lambda \in \Lambda_0} (\dim_R L_\lambda)^2 \\ \geq \sum_{\lambda \in \Lambda_2} (n_\lambda + \dim_R \text{rad } \lambda) \dim_R L_\lambda + \sum_{\lambda \in \Lambda_4} n_\lambda^2, \end{aligned}$$

or

$$\begin{aligned} \sum_{\lambda \in \Lambda_3} n_\lambda^2 + \sum_{\lambda \in \Lambda_2} n_\lambda^2 - \sum_{\lambda \in \Lambda_2} (\dim_R L_\lambda)^2 \\ \geq \sum_{\lambda \in \Lambda_2} (n_\lambda + \dim_R \text{rad } \lambda) \dim_R L_\lambda + \sum_{\lambda \in \Lambda_4} n_\lambda^2, \end{aligned}$$

or

$$\begin{aligned} \sum_{\lambda \in \Lambda_2} (\dim_K L_\lambda)^2 - \sum_{\lambda \in \Lambda_3} n_\lambda^2 \\ \leq \sum_{\lambda \in \Lambda_2} n_\lambda^2 - \sum_{\lambda \in \Lambda_2} (n_\lambda + \dim_R \text{rad } \lambda) \dim_R L_\lambda - \sum_{\lambda \in \Lambda_4} n_\lambda^2. \end{aligned}$$

According to $\dim_R L_\lambda = n_\lambda - \dim_R \text{rad } \lambda$, the right side of the above inequality is $\sum_{\lambda \in \Lambda_2} (\dim_K \text{rad } \lambda)^2 - \sum_{\lambda \in \Lambda_4} n_\lambda^2$. This completes the proof. ■

COROLLARY 4.3. *Let R be an integral domain and A a symmetric cellular algebra. Let λ be the minimal element in Λ . If $\text{rad } \lambda \neq 0$, then $R\text{-span}\{C_{S,T}^\lambda \mid S, T \in M(\lambda)\} \subset \text{rad } A$.*

Proof. If $a = \sum_{X,Y \in M(\lambda)} r_{X,Y} C_{X,Y}^\lambda$ is not in $\text{rad } A$, then there exists some $D_{U,V}^\mu$ such that $aD_{U,V}^\mu \notin \text{rad } A$. If $\mu \neq \lambda$, then $aD_{U,V}^\mu = 0$ by Lemma 3.1, so $aD_{u,V}^\mu$ is in $\text{rad } A$. If $\mu = \lambda$, then $aD_{U,V}^\mu \in \text{rad } A$ by Theorem 4.2. This is a contradiction. ■

COROLLARY 4.4. *Let A be a finite-dimensional symmetric cellular algebra and $r \in \text{rad } A$. Assume that $\lambda \in \Lambda$ satisfies:*

- (1) *There exist $S, T \in M(\lambda)$ such that $C_{S,T}^\lambda$ appears in the expansion of r with nonzero coefficient.*
- (2) *For any $\mu > \lambda$ and $U, V \in M(\mu)$, the coefficient of $C_{U,V}^\mu$ in the expansion of r is zero.*

Then $k_\lambda = 0$.

Proof. Since $r = \sum_{\varepsilon \in \Lambda, X, Y \in M(\varepsilon)} r_{X, Y, \varepsilon} C_{X, Y}^\varepsilon \in \text{rad } A$, we have $rD_{T, S}^\lambda \in \text{rad } A$. The conditions (1) and (2) imply that

$$rD_{T, S}^\lambda = \sum_{X \in M(\lambda)} r_{X, T, \lambda} C_{X, T}^\lambda D_{T, S}^\lambda.$$

It is easy to check that $(rD_{T, S}^\lambda)^n = (k_\lambda r_{S, T, \lambda})^{n-1} rD_{T, S}^\lambda$. Applying τ on both sides of this equation, we get $\tau((rD_{T, S}^\lambda)^n) = (k_\lambda r_{S, T, \lambda})^{n-1} r_{S, T, \lambda}$. If $k_\lambda \neq 0$, then $\tau((rD_{T, S}^\lambda)^n) \neq 0$. Hence $rD_{T, S}^\lambda$ is not nilpotent and so $rD_{T, S}^\lambda \notin \text{rad } A$, a contradiction. This implies that $k_\lambda = 0$. ■

EXAMPLE 4.5. Consider the group algebra $\mathbb{F}_3 S_3$, where \mathbb{F}_3 is the field of integers modulo 3. The algebra has a basis

$$\{1, s_1, s_2, s_1 s_2, s_2 s_1, s_1 s_2 s_1\}.$$

A cellular basis is

$$\begin{aligned} C_{1,1}^{(3)} &= 1 + s_1 + s_2 + s_1 s_2 + s_2 s_1 + s_1 s_2 s_1, \\ C_{1,1}^{(2,1)} &= 1 + s_1, & C_{1,2}^{(2,1)} &= s_2 + s_1 s_2, \\ C_{2,1}^{(2,1)} &= s_2 + s_2 s_1, & C_{2,2}^{(2,1)} &= 1 + s_1 s_2 s_1, \\ C_{1,1}^{(1^3)} &= 1. \end{aligned}$$

The corresponding dual basis is

$$\begin{aligned} D_{1,1}^{(3)} &= -s_2 + s_1 s_2 + s_2 s_1, \\ D_{1,1}^{(2,1)} &= s_1 + s_2 - s_1 s_2 - s_2 s_1, & D_{2,1}^{(2,1)} &= s_2 - s_1 s_2, \\ D_{1,2}^{(2,1)} &= s_2 - s_2 s_1, & D_{2,2}^{(2,1)} &= s_2 - s_1 s_2 - s_2 s_1 + s_1 s_2 s_1, \\ D_{1,1}^{(1^3)} &= 1 - s_1 - s_2 + s_1 s_2 + s_2 s_1 - s_1 s_2 s_1. \end{aligned}$$

It is easy to see that $\Lambda_3 = (3)$ and $\Lambda_1 = (1^3)$. Thus $\dim \text{rad } A = 4$. Now we

compute I . We have

$$\begin{aligned} C_{1,1}^{(3)} D_{1,1}^{(3)} &= 1 + s_1 + s_2 + s_1 s_2 + s_2 s_1 + s_1 s_2 s_1, \\ C_{1,2}^{(2,1)} D_{2,1}^{(2,1)} &= 1 + s_1 - s_2 - s_1 s_2 s_1, \\ C_{1,2}^{(2,1)} D_{2,2}^{(2,1)} &= s_2 + s_1 s_2 - s_2 s_1 - s_1 s_2 s_1, \\ C_{2,1}^{(2,1)} D_{1,2}^{(2,1)} &= 1 - s_1 - s_1 s_2 + s_1 s_2 s_1, \\ C_{2,1}^{(2,1)} D_{1,1}^{(2,1)} &= s_2 + s_2 s_1 - s_1 - s_1 s_2. \end{aligned}$$

Thus $\dim I = 4$. This implies that $I = \text{rad } A$.

Of course, for a symmetric cellular algebra A , the ideal I may not be equal to $\text{rad } A$. Here is an example.

EXAMPLE 4.6. Let K be a field and Q be the quiver

$$\begin{array}{ccccc} & & \xrightarrow{\alpha_1} & & \xrightarrow{\alpha_2} & & \\ \bullet & & & \bullet & & \bullet & \\ 1 & & \xleftarrow{\alpha'_1} & 2 & \xleftarrow{\alpha'_2} & 3 & \end{array}$$

with relations ρ given as follows:

- all paths of length ≥ 3 ;
- $\alpha'_1 \alpha_1 - \alpha_2 \alpha'_2$;
- $\alpha_1 \alpha_2, \alpha'_2 \alpha'_1$.

Let $A = K(Q, \rho)$. Define τ by

$$\begin{aligned} \tau(e_1) &= \tau(e_2) = \tau(e_3) = 0; \\ \tau(\alpha_i \alpha'_i) &= \tau(\alpha'_i \alpha_i) = 1, \quad i = 1, 2; \\ \tau(\alpha_i) &= \tau(\alpha'_i) = 0. \end{aligned}$$

Then A is a symmetric cellular algebra with a cellular basis

$$e_1; \quad \begin{array}{cc} \alpha_1 \alpha'_1 & \alpha_1 \\ \alpha'_1 & e_2 \end{array}; \quad \begin{array}{cc} \alpha_2 \alpha'_2 & \alpha_2 \\ \alpha'_2 & e_3 \end{array}.$$

The dual basis is

$$\alpha_1 \alpha'_1; \quad \begin{array}{cc} e_1 & \alpha'_1 \\ \alpha_1 & \alpha'_1 \alpha_1 \end{array}; \quad \begin{array}{cc} e_2 & \alpha'_2 \\ \alpha_2 & \alpha'_2 \alpha_2 \end{array}.$$

It is easy to see that $\dim(\text{rad } A) = 6$ and $\dim I = 2$.

As a by-product of the results on radicals, we will give some equivalent conditions for a finite-dimensional symmetric cellular algebra to be semi-simple.

COROLLARY 4.7. *Let A be a finite-dimensional symmetric cellular algebra. Then the following are equivalent:*

- (1) A is semisimple.

- (2) $k_\lambda \neq 0$ for all $\lambda \in \Lambda$.
(3) $\{C_{S,T}^\lambda D_{T,T}^\lambda \mid \lambda \in \Lambda, S, T \in M(\lambda)\}$ is a basis of A .
(4) For any $\lambda \in \Lambda$, there exist $S, T \in M(\lambda)$ such that $(C_{S,T}^\lambda D_{T,S}^\lambda)^2 \neq 0$.
(5) For any $\lambda \in \Lambda$ and arbitrary $S, T \in M(\lambda)$, $(C_{S,T}^\lambda D_{T,S}^\lambda)^2 \neq 0$.

Proof. (2) \Rightarrow (1). If $k_\lambda \neq 0$ for all $\lambda \in \Lambda$, then $\text{rad } \lambda = 0$ for all $\lambda \in \Lambda$ by Corollary 3.6. This implies that A is semisimple by Theorem 2.10.

(1) \Rightarrow (2). Assume that there exists some $\lambda \in \Lambda$ such that $k_\lambda = 0$. Then it is easy to check that I^λ is a nilpotent ideal of A . Obviously, $I^\lambda \neq 0$ because at least $C_{U,V}^\lambda D_{V,U}^\lambda \neq 0$. This implies that $I^\lambda \subseteq \text{rad } A$. But A is semisimple, a contradiction. This implies that $k_\lambda \neq 0$ for all $\lambda \in \Lambda$.

(2) \Rightarrow (3). Suppose

$$\sum_{\lambda \in \Lambda, S, T \in M(\lambda)} k_{S,T,\lambda} C_{S,T}^\lambda D_{T,T}^\lambda = 0.$$

Take a maximal element $\lambda_0 \in \Lambda$. For arbitrary $X, Y \in M(\lambda_0)$,

$$C_{X,X}^{\lambda_0} D_{X,Y}^{\lambda_0} \left(\sum_{\lambda \in \Lambda, S, T \in M(\lambda)} k_{S,T,\lambda} C_{S,T}^\lambda D_{T,T}^\lambda \right) = k_{\lambda_0} \sum_{T \in M(\lambda_0)} k_{Y,T,\lambda_0} C_{X,T}^{\lambda_0} D_{T,T}^{\lambda_0} = 0.$$

This implies that

$$\tau \left(k_{\lambda_0} \sum_{T \in M(\lambda_0)} k_{Y,T,\lambda_0} C_{X,T}^{\lambda_0} D_{T,T}^{\lambda_0} \right) = 0,$$

i.e., $k_{\lambda_0} k_{Y,X,\lambda_0} = 0$. Since $k_{\lambda_0} \neq 0$, we get $k_{Y,X,\lambda_0} = 0$.

Repeating this process, we conclude that all the $k_{S,T,\lambda}$ are zeros.

(3) \Rightarrow (2). Since $\{C_{S,T}^\lambda D_{T,T}^\lambda \mid \lambda \in \Lambda, S, T \in M(\lambda)\}$ is a basis of A ,

$$1 = \sum_{\lambda \in \Lambda, S, T \in M(\lambda)} k_{S,T,\lambda} C_{S,T}^\lambda D_{T,T}^\lambda.$$

For arbitrary $\mu \in \Lambda$ and $U, V \in M(\mu)$, we have

$$\begin{aligned} C_{U,V}^\mu D_{V,V}^\mu &= \sum_{\lambda \in \Lambda, S, T \in M(\lambda)} k_{S,T,\lambda} C_{S,T}^\lambda D_{T,T}^\lambda C_{U,V}^\mu D_{V,V}^\mu \\ &= k_\mu \sum_{X \in M(\mu)} k_{X,U,\mu} C_{X,V}^\mu D_{V,V}^\mu. \end{aligned}$$

This implies that $k_\mu \neq 0$ since $C_{U,V}^\mu D_{V,V}^\mu \neq 0$. As μ is arbitrary, this shows that $k_\lambda \neq 0$ for all $\lambda \in \Lambda$.

(2) \Leftrightarrow (4) and (2) \Leftrightarrow (5) are clear by Lemma 3.3. ■

Acknowledgements. The author is grateful to his supervisor Prof. C. C. Xi for his encouragement and help. He also thanks Dr. Wei Hu and Zhankui Xiao for many helpful conversations. In particular, he would like to

express his sincere thanks to the reviewer for the valuable suggestions which helped to clarify the whole paper.

This work is supported by Fundamental Research Funds for the Central Universities (N110423007) and the Natural Science Foundation of Hebei Province, China (A2013501055).

REFERENCES

- [1] J. Brundan and C. Stroppel, *Highest weight categories arising from Khovanov's diagram algebra I: cellularity*, Moscow Math. J. 11 (2011), 685–722.
- [2] M. Geck, *Hecke algebras of finite type are cellular*, Invent. Math. 169 (2007), 501–517.
- [3] F. Goodman, *Cellularity of cyclotomic Birman–Wenzl–Murakami algebras*, J. Algebra 321 (2009), 3299–3320.
- [4] F. Goodman and J. Graber, *Cellularity and the Jones basic construction*, Adv. Appl. Math. 46 (2011), 312–362.
- [5] J. J. Graham, *Modular representations of Hecke algebras and related algebras*, PhD thesis, Sydney Univ., 1995.
- [6] J. J. Graham and G. I. Lehrer, *Cellular algebras*, Invent. Math. 123 (1996), 1–34.
- [7] D. Kazhdan and G. Lusztig, *Representations of Coxeter groups and Hecke algebras*, Invent. Math. 53 (1979), 165–184.
- [8] S. Koenig and C. C. Xi, *On the structure of cellular algebras*, in: I. Reiten et al. (eds.), Algebras and Modules II, CMS Proc. 24, Amer. Math. Soc., 1998, 365–386.
- [9] S. Koenig and C. C. Xi, *Cellular algebras: Inflation and Morita equivalences*, J. London Math. Soc. (2) 60 (1999), 700–722.
- [10] S. Koenig and C. C. Xi, *A characteristic-free approach to Brauer algebras*, Trans. Amer. Math. Soc. 353 (2001), 1489–1505.
- [11] S. Koenig and C. C. Xi, *Affine cellular algebras*, Adv. Math. 229 (2012), 139–182.
- [12] G. I. Lehrer and R. B. Zhang, *A Temperley–Lieb analogue for the BMW algebra*, Representation Theory of Algebraic Groups and Quantum Groups, Progr. Math. 284, Birkhäuser, 2010, 155–190.
- [13] G. Malle and A. Mathas, *Symmetric cyclotomic Hecke algebras*, J. Algebra 205 (1998), 275–293.
- [14] E. Murphy, *The representations of Hecke algebras of type A_n* , J. Algebra 173 (1995), 97–121.
- [15] H. B. Rui and C. C. Xi, *The representation theory of cyclotomic Temperley–Lieb algebras*, Comment. Math. Helv. 79 (2004), 427–450.
- [16] C. C. Xi, *Partition algebras are cellular*, Compos. Math. 119 (1999), 99–109.
- [17] C. C. Xi, *On the quasi-heredity of Birman–Wenzl algebras*, Adv. Math. 154 (2000), 280–298.
- [18] C. C. Xi and D. J. Xiang, *Cellular algebras and Cartan matrices*, Linear Algebra Appl. 365 (2003), 369–388.

Yanbo Li
School of Mathematics and Statistics
Northeastern University at Qinhuangdao
Qinhuangdao, 066004, P.R. China
E-mail: liyanbo707@163.com

Received 28 January 2013;
revised 19 August 2013

(5858)

